Addendum No. 2

ISSUED BY: Great River Engineering -
2826 S. Ingram Mill
Springfield, Missouri 65804 ‘

(417) 886-7171

(417) 886-7591 - FAX 01/04/2023
DATE: January 4, 2023
FOR: Constructing Bridge #17502271 on Farm Road 175, Greene County MO

The attached revisions hereby supersede any and all data with which they may conflict as indicated on the Drawings, Specifications
and related documents issued in the original set. Each trade is responsible for changes in its work caused by changes in the work of
other trades. This addendum is a part of and shall be attached to the original set of plans and specifications for the work.

Notification: There has been one addendum prior to this addendum.

Change to Guardrail Layout and Details (Sheet 29)

The note calling for a MASH Crashworthy End Terminal has been updated to reflect a Type A Crashworthy End Terminal.

There are no other clarifications or changes included with this Addendum.

RECEIPT OF ADDENDUM:

I have received addendum No. 2 for constructing Bridge #17502271 on Farm Road 175, Greene County MO

This addendum involves 2 pages including this sheet detailing the Addendum.

Vendor’s Name

Vendor’s Address

Vendor’s Signature Date

Page 1 of 1


Melissa Massar
Missouri


VOV OV NV NV

o 6 —3" 12'—6” 12’'—6" 6’3" o Type A Crash Worthy A
A Type A Crash Worthy 25-0 Trans. Bridge Bridge Trans. 25-0 End Terminal
nd Termingl < End Terminal Sect. nchor Sect. Anchor Sect._, _Sect. End Terminal
15’_0” 1 5:_0’:
gn \ > < | < >‘
HA HA
| |
]I ]I
]I ]I
1+00 : : : : 2+00 3400
- - - - - s - - X - - FIH; - - HHI - - - - - - - - - - - - -
]I ]I
]I ]I
]I ]I
]I ]I
]I ]I
]I ]I
L] L] T
p;ﬁ lj_ ke " " —
15’_0” X » ’ ., 15’_0”
Gravel Shoulder 42 —8" Gravel Shoulder - 50 —=9" Gravel Shoulder Gravel Shoulderl
’ ) 6’—3” 12,—6” 12’—6” 6’—3”
Type A Crash Worthy 25 —O‘ Trans. Bridge Bridge Trans. 25 —O. Tvoe A Crash Worth
General Notes: A End Terminal < End Terminal Sect._| Anchor Sect. | PLAN Anchor Sect. | _Sect. | End Terminal - E%’% Terminal y
Design specifications: AASHTO—1996 and Interims thru 1999
Panel lengths of channel members shall be attached continuously to a minimum of ¢ wex20 BLOCKOUT—TO—POST CONN. » o
f i 4 A Fage ts ( £ at end bents) Post ) : 1” Dia. holes (Typ.)
our posts and a maximum of six posts (except at end bents). (Vert osi) ¢ Two 13/16"% Holes in 107 for 7/8” Dia. bolts
All bolts, nuts, washers, plates and elastomeric materials are considered as parts of erticd , WEx20 post flange and W6x15 22” 72}” (ASRM A307) with
the thrie beam rail for poyment’ A | \ R bloc’l’(out ﬂonge and Q Two . hex heOdS, nuts
WEx20 : = 5/8"¢ Hex Head Bolt with two N and washers
All steel connecting bolts and fasteners for posts and railing, and all anchor bolts, Post B o b washers and hex nut 11/4"—— _& N
nuts, washers and plates shall be galvanized after fabrication. For protective coating 2’_g" 5 Base plate YT ¥ - 117"
gnd rfr]otfyiol requirement of steel railing, see Section 1040 of the Missouri Standard o . T — THRIE BEAM—TO—BLOCKOUT W6x20p Post _Il < 2 L
pecifications. M \ - CONN. —- N =
2 3 ” ” . Around+’ 2 i \_ 2 ‘ ‘
Rail posts shall be set perpendicular to roadway profile grade and vertically in cross \ o o ‘o B | % _ 'B ¢ 13/16" x 2 1/2" Vertical flanges % —I[() r -—& ~ ) ? o2
section, and aligned according to Section 713 of the Missouri Standard Specifications, 3+ ,l Slotted Hole in W6x15 ” | Ewo \. L Py
fk)l(c’?p’;[h I ts shall be al d by th f sh that the final 3/4” X 21/2" L " 3 : plockoul flange (1) ana & 1 —Ié B " T !

a e rail posts shall be aligned by the use of shims so that in the fina i ong 1"—pa" N » i 1 =<1 L= N
adjustment no part shall deviate more than one inch from true horizontal alignment. X0 post bolt slots i~ | 20/,(8 ﬁosCr?g:lOOgned Bhoelit( ::}P one % ¢ 1470 X—-—@- | ' ‘©
The shims shall be 3" x 1 3/4” and placed between the post and the thrie beam rail. 9; | 11/4” See this sheet for rail post spacin < Holes . o
The thickness of the shims shall be determined by the contractor and verified by the o ( / &— — - Base P P 9 e _@__X
engineer before ordering material for this work. - | & ‘3\ & — el || plate (1) R ired i ¢ 5 | BASE PI_ TE | oo

o - . |o v — Iifh v equired on one side of web only, . A %)
Rail posts shall be seated on elastomeric pads having the same dimensions as the = ™~ —© o_ S g 30:'), " . T ) A but may be provided on both sides (Clt wing Y | I |
g?s;(ibtégesg F;:g:(/?ngond 1/16” thickness. such pads may be any elastomeric material, plain 5 ) il i < g% l\:|: 3) _'_ru R N of web at the contractor’s option. ] g g” 1y

) N . T e -— X
a hardness (durometer) of 50 or above, as certified by the manufacturer. Additional R o \_! T oy oL Wing—y:— (2) y . .
pads or half pads may be used in shimming for alignment. Post heights shown will o I I 5 wall NG == (2) Three 1—inch diameter A307
increase by the thickness of the pad. | me OC ¢ ¢ - 72}» 4&” bolts with hex nuts and washers. 5/8” BEAR'NG PLATE
(o D | CJ E E E E
At the expansion slots in the thrie beam rails and channels, tighten bolts, back off — ) 16" (3) Two 1—inch diameter A307 bolts
one—half turn and burr threads. M0 " » n| 4 q» .
N| 2 8 47 |4 with hex nuts and washers.
At the thrie beam connection to posts on wings, tighten bolts, back off one—half turn 74
and burr threads. 1” Dia. holes (typ.) (for PART SECTION AT WING ” " At splices
Minimum length of thrie beam sections is equal to one post space. 7/8" Dia. bolts (ASTM A307) with = 298(3’(2 >t< 1 1/|8 between post
hex heads, nuts and washers) ots a regip ar eliminate this

Use 5/8"¢ button—head, oval shoulder bolts with hex nuts at all slots. (Thickness of splices slot or provide

hex nuts = 3/8” min.).
Thrie beam guardrail on the bridge shall be made of steel and shall be 12 gage.

Posts, top plates, base plates, channels and channel splice plates shall be fabricated
from ASTM A709 Grade 36 steel and galvanized.

Threaded rods grade A—321 with 2 hex nuts and washers may be substituted for the
A—307 anchor bolts.

Each of the three (3) shorter anchor bolts shall be furnished with a 1/4” x 2 1/2” x
2 1/2" plate (ASTM A709 Grade 36) tack welded to the head of the bolt; or, at the
contractor’s option, one plate 1/4” x 2 1/2” x 12" continuous for all three bolts may
be used.

Washers shall be used at all post bolts (between the bolt head and beam). They shall
be rectangular in shape (3" x 1 3/4” x 3/16” min.) and flat with a 11/16” x 1" slot,
or when necessary of such design as to fit the contour of the beam. (Use a 3" x 1
3/4" x 5/8" rectangular washer between the post and the thrie beam rail.)

Special drilling of the thrie beam may be required at the splices. (All drilling details
are to be shown on the shop drawings.)

Fabrication of structural steel shall be in accordance with Section 712 of the Missouri
Standard Specifications.

Expansion splices in the thrie beam rail shall be made at either the first or second
post on either side of the joint and on structure at bridge ends. When the splice is
made at the second post, an expansion slot shall be provided in the thrie beam rail
for connection to the first post to allow for

movement.

In addition to the expansion provisions at these expansion joints, expansion splices in
the thrie beam rail and the channel shall be provided at other locations so that the
maximum length without expansion provisions does not exceed 200 ft.

Shim plates 6” x 6” x 1/16” may be used between the top of the post and the
channel member as required for vertical alignment.

See Missouri Standard Plans drawing 606.00 for details not shown.

TERMINAL CONNECTOR

7-31/2"

¢ 3/4” X 2 1/2” Post bolt slot

/

6'—3" T

3-11/2" O 3-11/2"

1
Y
1

4%” 4%”

Y

Y

2” 2”

Y

MIN. MIN.

O
A

FaY
A
FaY
>4

O
4

FaY
>4
FaY
>4

G— 0

0—0

J—

O
A

FaY
A

0O
4

0
>4

3/4" X 21/2"
Post bolt slot

¢ 29/32" x 11/8" Slotted hole

ASYMME TRICAL
TRANSITION SECTION

3%
118”

++

Neutral axis . Symm. abt. ¢
‘s »
H Y : 0
- l 9
M <
® $ | /+\
i )
%n

¢ Two 5/8"¢ Carriage (typ.

bolts with flat

1%” to i”
Tolerance -

post

&g washer and hex nut 19§ +
£ _ :
W6x20 — gii SN :
—~——Th
Steel __7%_%/ -(1) begr?n SECTION THRU

rail THRIE BEAM RAIL

¢ 3/4” X 2 1/2"—1 Direction
Regular slots | |4 | &| ~of Traffic

Reqular splices 2; ‘4i”42_l”‘ g

button head bolt

< <

THRIE BEAM RAIL
SPLICE DETAIL

/\ aiin
L] = ><‘ L1 L]
¢ Two 5/8"8 "l"g /\’

Head hex bolts WBx15 Steel DRAWING REVISIONS

with two washers blockout DATE REMARKS APPROVED BY

and hex nut
01.03.23|Addend 2 JAC
SECTION B—B endum_#

GREENE COUNTY, MISSOURI

F.R. 175 BRIDGE #17502271
STBG 5901(823)
OVER FARMER'S BRANCH

GREAT RIVER
ENGINEERING

2826 S. INGRAM MILL ROAD, SPRINGFIELD, MO 65804
PHONE: (417) 8867171 FAX: (417) 886-7591
] www.greatrivereng.com

i

01/04/2023

GUARDRAIL LAYOUT
& DETAILS

Great River Associates, Inc. - Missouri State Certificate of Authority Numbers:
o o o o o MELISSA M. MASSAR Engineering: 2000156885, Land Surveying: 2001011476,
This drawing is not to scale. Follow dimensions. MO# PE-2018000237 Landscape Architecture: 2007013673

SUR\éERYE BY DESIGN EML SCALES SHEET 29
JOB NO. 4265 DRAWN KFB HOR. __NOTED iOF 31 sheeTs
DATE 08.12.2020 | CHECKED JAB VERT.__NOTED [FLE



AutoCAD SHX Text
PLAN

AutoCAD SHX Text
Type A Crash Worthy End Terminal

AutoCAD SHX Text
Type A Crash Worthy End Terminal

AutoCAD SHX Text
Type A Crash Worthy End Terminal

AutoCAD SHX Text
Type A Crash Worthy End Terminal

AutoCAD SHX Text
1+00

AutoCAD SHX Text
2+00

AutoCAD SHX Text
3+00

AutoCAD SHX Text
Direction  of Traffic

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
+

AutoCAD SHX Text
At splices between post eliminate this slot or provide button head bolt

AutoCAD SHX Text
  29/32" X 1 1/8" Slots at regular splices

AutoCAD SHX Text
  3/4" X 2 1/2"  Regular slots

AutoCAD SHX Text
Regular splices

AutoCAD SHX Text
Symm. abt.  

AutoCAD SHX Text
38" R. (Typ.)

AutoCAD SHX Text
Neutral axis

AutoCAD SHX Text
(typ.)

AutoCAD SHX Text
BLOCKOUT-TO-POST CONN.   Two 13/16"  Holes inW6x20 post flange and W6x15 blockout flange and   Two 5/8"  Hex Head Bolt with twowashers and hex nut

AutoCAD SHX Text
W6x20 Post

AutoCAD SHX Text
Wing wall

AutoCAD SHX Text
1 1/4" Base plate

AutoCAD SHX Text
PART SECTION AT WING

AutoCAD SHX Text
B

AutoCAD SHX Text
BASE PLATE

AutoCAD SHX Text
516"

AutoCAD SHX Text
1 1/4" Base plate

AutoCAD SHX Text
B

AutoCAD SHX Text
THRIE BEAM-TO-BLOCKOUT CONN.   13/16" x 2 1/2" Vertical Slotted Hole in W6x15 blockout flange (1) and   5/8"  Carriage Bolt with oneflat washer and hex nut

AutoCAD SHX Text
  W6x20 Post (Vertical)

AutoCAD SHX Text
(at wing)

AutoCAD SHX Text
SECTION B-B

AutoCAD SHX Text
Thrie beam rail

AutoCAD SHX Text
W6x15 Steel blockout

AutoCAD SHX Text
W6x20 Steel post

AutoCAD SHX Text
  Two 5/8"  Carriagebolts with flat washer and hex nut

AutoCAD SHX Text
  Two 5/8" Head hex bolts with two washers and hex nut

AutoCAD SHX Text
(1)

AutoCAD SHX Text
(2)

AutoCAD SHX Text
(3)

AutoCAD SHX Text
See this sheet for rail post spacing. (1) Required on one side of web only, but may be provided on both sides of web at the contractor's option. (2) Three 1-inch diameter A307 bolts with hex nuts and washers. (3) Two 1-inch diameter A307 bolts with hex nuts and washers.

AutoCAD SHX Text
W6x20 Post

AutoCAD SHX Text
Around flanges

AutoCAD SHX Text
516"

AutoCAD SHX Text
8"

AutoCAD SHX Text
11"

AutoCAD SHX Text
18

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
"

AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
"

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
"

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
16

AutoCAD SHX Text
"

AutoCAD SHX Text
7 "58"

AutoCAD SHX Text
1" Dia. holes (Typ.)  for 7/8" Dia. bolts  (ASRM A307) with  hex heads, nuts and washers

AutoCAD SHX Text
5/8" BEARING PLATE

AutoCAD SHX Text
7 "58"

AutoCAD SHX Text
1 "12"

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
16

AutoCAD SHX Text
"

AutoCAD SHX Text
7 "58"

AutoCAD SHX Text
THRIE BEAM RAIL SPLICE DETAIL

AutoCAD SHX Text
SECTION THRU THRIE BEAM RAIL

AutoCAD SHX Text
20"

AutoCAD SHX Text
10"

AutoCAD SHX Text
10"

AutoCAD SHX Text
2"

AutoCAD SHX Text
2'-6"

AutoCAD SHX Text
8"

AutoCAD SHX Text
3"±

AutoCAD SHX Text
7 "58"

AutoCAD SHX Text
4 "14"

AutoCAD SHX Text
7 "14"

AutoCAD SHX Text
2932" X 1 "18"

AutoCAD SHX Text
3 "14"

AutoCAD SHX Text
6 "316"

AutoCAD SHX Text
Long Slotted Holes

AutoCAD SHX Text
2"

AutoCAD SHX Text
6'-3"

AutoCAD SHX Text
7'-3 1/2"

AutoCAD SHX Text
3'-1 1/2"

AutoCAD SHX Text
4 "14"

AutoCAD SHX Text
2"  MIN.

AutoCAD SHX Text
1" Dia. holes (typ.) (for  7/8" Dia. bolts (ASTM A307) with  hex heads, nuts and washers)

AutoCAD SHX Text
  29/32" x 11/8" Slotted holes

AutoCAD SHX Text
3/4" X 2 1/2" Post bolt slot

AutoCAD SHX Text
  3/4" X 2 1/2" Post bolt slot

AutoCAD SHX Text
TERMINAL CONNECTOR

AutoCAD SHX Text
ASYMMETRICAL TRANSITION SECTION

AutoCAD SHX Text
3/4" X 2 1/2" Long  post bolt slots

AutoCAD SHX Text
7 "58"

AutoCAD SHX Text
2 "38"

AutoCAD SHX Text
2 "38"

AutoCAD SHX Text
6 "316"

AutoCAD SHX Text
4 "14"

AutoCAD SHX Text
3'-1 1/2"

AutoCAD SHX Text
4 "14"

AutoCAD SHX Text
2"

AutoCAD SHX Text
4 "14"

AutoCAD SHX Text
2"  MIN.

AutoCAD SHX Text
4 "14"

AutoCAD SHX Text
Note: This drawing is not to scale. Follow dimensions.

AutoCAD SHX Text
Design specifications: AASHTO-1996 and Interims thru 1999 Panel lengths of channel members shall be attached continuously to a minimum of four posts and a maximum of six posts (except at end bents). All bolts, nuts, washers, plates and elastomeric materials are considered as parts of the thrie beam rail for payment. All steel connecting bolts and fasteners for posts and railing, and all anchor bolts, nuts, washers and plates shall be galvanized after fabrication. For protective coating and material requirement of steel railing, see Section 1040 of the Missouri Standard Specifications. Rail posts shall be set perpendicular to roadway profile grade and vertically in cross section, and aligned according to Section 713 of the Missouri Standard Specifications, except  that the rail posts shall be aligned by the use of shims so that in the final adjustment no part shall deviate more than one inch from true horizontal alignment. The shims shall be 3" x 1 3/4" and placed between the post and the thrie beam rail. The thickness of the shims shall be determined by the contractor and verified by the engineer before ordering material for this work. Rail posts shall be seated on elastomeric pads having the same dimensions as the post base plate and 1/16" thickness. such pads may be any elastomeric material, plain or fibered, having  a hardness (durometer) of 50 or above, as certified by the manufacturer. Additional pads or half pads may be used in shimming for alignment. Post heights shown will increase by the thickness of the pad. At the expansion slots in the thrie beam rails and channels, tighten bolts, back off one-half turn and burr threads. At the thrie beam connection to posts on wings, tighten bolts, back off one-half turn and burr threads. Minimum length of thrie beam sections is equal to one post space. Use 5/8"  button-head, oval shoulder bolts with hex nuts at all slots. (Thickness ofhex nuts =  3/8" min.). Thrie beam guardrail on the bridge shall be made of steel and shall be 12 gage. Posts, top plates, base plates, channels and channel splice plates shall be fabricated from ASTM A709 Grade 36 steel and galvanized. Threaded rods grade A-321 with 2 hex nuts and washers may be substituted for the A-307 anchor bolts. Each of the three (3) shorter anchor bolts shall be furnished with a 1/4" x 2 1/2" x 2 1/2" plate (ASTM A709 Grade 36) tack welded to the head of the bolt; or, at the contractor's option, one plate 1/4" x 2 1/2" x 12" continuous for all three bolts may be used. Washers shall be used at all post bolts (between the bolt head and beam). They shall be rectangular in shape (3" x 1 3/4" x 3/16" min.) and flat with a 11/16" x 1" slot, or when necessary of such design as to fit the contour of the beam. (Use a 3" x 1 3/4" x  5/8" rectangular washer between the post and the thrie beam rail.) Special drilling of the thrie beam may be required at the splices.  (All drilling details are to be shown on the shop drawings.) Fabrication of structural steel shall be in accordance with Section 712 of the Missouri Standard Specifications. Expansion splices in the thrie beam rail shall be made at either the first or second post on either side of the joint and on structure at bridge ends. When the splice is made at the second post, an expansion slot shall be provided in the thrie beam rail for connection to the first post to allow for  movement. In addition to the expansion provisions at these expansion joints, expansion splices in the thrie beam rail and the channel shall be provided at other locations so that the maximum length without expansion provisions does not exceed 200 ft. Shim plates 6" x 6" x 1/16" may be used between the top of the post and the channel member as required for vertical alignment. See Missouri Standard Plans drawing 606.00 for details not shown.

AutoCAD SHX Text
General Notes:

AutoCAD SHX Text
KFB

AutoCAD SHX Text
JAB

AutoCAD SHX Text
NOTED

AutoCAD SHX Text
SCALES

AutoCAD SHX Text
DRAWING REVISIONS

AutoCAD SHX Text
DATE

AutoCAD SHX Text
REMARKS

AutoCAD SHX Text
VERT.

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
DESIGN

AutoCAD SHX Text
HOR.

AutoCAD SHX Text
APPROVED BY

AutoCAD SHX Text
FILE

AutoCAD SHX Text
NO.

AutoCAD SHX Text
SHEETS

AutoCAD SHX Text
SHEET

AutoCAD SHX Text
OF

AutoCAD SHX Text
NOTED

AutoCAD SHX Text
CHECKED

AutoCAD SHX Text
2826 S. INGRAM MILL ROAD, SPRINGFIELD, MO 65804

AutoCAD SHX Text
PHONE: (417) 886-7171  FAX: (417) 886-7591

AutoCAD SHX Text
www.greatrivereng.com

AutoCAD SHX Text
EML

AutoCAD SHX Text
31

AutoCAD SHX Text
JOB NO.

AutoCAD SHX Text
SURVEY BY

AutoCAD SHX Text
GRE

AutoCAD SHX Text
4265

AutoCAD SHX Text
08.12.2020

AutoCAD SHX Text
DATE

AutoCAD SHX Text
29

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
01.03.23

AutoCAD SHX Text
Addendum #2

AutoCAD SHX Text
JAC

Melissa Massar
Missouri


		2023-01-04T01:32:22+0400
	Melissa Massar




